Math 217K
4-8-10

t-Test practice (Section 7.1)

1. Using Table D.  For each given sample size n, test statistic t, and alternative hypothesis Ha, estimate the P-value of the corresponding t-test using Table D.
	n
	t
	Ha
	P

	5
	3.06
	µ > µ0
	

	12
	2.01
	µ ≠ µ0
	

	17
	0.05
	µ < µ0
	

	22
	-2.73
	µ < µ0
	

	63
	-3.66
	µ ≠ µ0
	

	200
	1.50
	µ > µ0
	


2. If we know the population standard deviation σ, then the standard deviation of the sampling distribution for 
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 __________.  If we don't know the population standard deviation σ, we can estimate 
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 by using s for a given sample in place of σ; the resulting ratio is called the standard error of 
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 __________.
3. The margin of error for a level C confidence interval for µ, when we know the population standard deviation σ, is m = ______________ .  If we don't know the population standard deviation σ, we use a t procedure instead of a z procedure (swapping s for σ); the resulting margin of error is found by the formula m = _____________.  (This procedure requires the population to be normally distributed or a fairly large sample size n.)

4.  Given the following data (blood sugar readings) from a normal distribution, use the t margin of error formula to find a 90% confidence interval for the population mean.  Check your result by using the T Interval dialog on your calculator.
137
138
130
139
138


130
140
144
138
145


Margin of error is: _________


We are 90% confident the population mean blood sugar is between ______ and ______ .
5. Do a 1-sample t test to answer the question:  do the data in question 4 provide convincing evidence that the population mean blood sugar is less than 140?  Show your work below and write a clear conclusion.
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